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Time: 10 Minutes Paper Math 5 (T-1) Total Marks: 10

1st Month, 4th Week, 2nd Day Unit # 1
Q.No.1. Choose the correct option. 05x6=3) - /C.al’;'i Kﬁfwﬂ
i) We put space after every __ digits in number.
SRS L Ui Lol
@ 2 o] 3 Jo| 4 |of 5 |
ii) In 856 211, the digit ______is at thousands place.
~e gLk U856 211
@ 2 Jo] s Jo] 6 |@] 8 |

iii) What is the sum of 139 657 and 247 777?
e\ ¥ 247 77751139 657
[(a)| 281334 [(b)| 486 734 [(o) 387 434 [@)| 385434 |

iv) The place value of 2 in the number 985 621 is: .
e e JBd 2 U 985 621

[() | 2 ) 20 @] 200 |@| 2000 |

v) When we multiply a number by ,we put 3 zeros to the right side.
BB GPE AR LS fe b

[(a) | 10 [ )| 100 [ 1000 [(@] 1 |

vi) Subtract 563 095 from 743 218 we get:
e b Joe i ST P Jh743 2184563 095
[@] 178215 [m)| 180123 || 180113 [@]| 185313 |

Q.No.2. Write the following numbers in words. ) _u.‘."{ﬂkwl:gwu:}@/)
i) 982 009
ii) 734 123

Q.No.3. Solve the following. 1x2=2) - /’U’/J” 3G

i) 727 191 +92 921

ii) 18 315+ 102376
Q.No.4. Solve the following. (1x3=3) - /'U’/J“ 3G

i) 846 109 — 561 098 ii) 108 761 — 70 021

iii) 675 921 — 31 412
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